
MATHEMATICS 317 December 2013 Final Exam Answers

1. (a) r(u) = u3 ı̂ıı+ 3u2 ̂+ 6u k̂ (b)
∫
C ds = 7 (c) du

dt
(t1) = 2 (d) d2u

dt2
(t1) = 1

2. (a) A = −4, B = −2 (b) φ(x, y, z) = −x4y2z + yz3 + C (c) I = −2
(d) J = −43

24
≈ −1.7917 (e)

∫
T (zı̂ıı+ F) · dr = 1

2

3. (a)
∫
C x ds =

1
2
+ 1

12

[
53/2 − 1

]
≈ 1.3484 (b)

∫
C F · dr =

3
4

4. (a)
∫∫

S
x2+y2√
1+x2+y2

dS = 8
3

(b)
∫∫

S F · n̂ dS = 16
3

5.
∫∫

S F · n̂ dS = 30 + 24π

6. (a) See the solution.

(b) |a(t)| = h2

r(t)3


